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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain briefly the term ‗Standard Cost‘ and ‗Standard 

Costing‘. How are the standards fixed ? Illustrate your 

answer.  

la{ksi esa ^izeki ykxr o ^izeki ykxr ys[kkadu* ‘kCnksa dh 

O;k[;k dhft,A fdl izdkj izeki fu/kkZfjr fd, tkrs gSa \ 

vius mŸkj dks mnkgj.k }kjk Li‛V dhft,A  

2. Explain the concept of ‗Budgeting Control‘. How does 

it operate as a tool of management control ?  

^ctVjh fu;a=.k* dh vo/kkj.kk dh O;k[;k dhft,A ;g 

fdl izdkj izcU/kdh; fu;U=.k ds midj.k ds :i esa dk;Z 

djrk gS \ 

3. The statement of marginal profit of X Ltd. is as under : 

 ` 

Sales (16000 units) 3,20,000 

Variable costs (` 15 per unit) 2,40,000 

Contribution 80,000 

Fixed Costs  60,000 

Profit 20,000 

Calculate the profit-volume ratio and then on the basis 

of P/V ratio, determine : 

(a) Sales for 40% P/V ratio  
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(b) Break-even point in ` 

(c) Contribution when sales amount to ` 2,56,000 

(d) Margin of safety when profit is ` 4,000. 

(e) Variable costs when sales amount to ` 2,56,000.   

^,Dl* fy- dk lhekUr ykHk dk fooj.k fuEufyf[kr gS % 

 ` 

foØ; (16000 bdkb;k¡) 3,20,000 

ifjorZu’khy ykxr (` 15 izfr bdkbZ)   2,40,000 

;ksxnku 80,000 

fLFkj ykxrsa     60,000 

ykHk 20,000 

ykHk&ek=k vuqikr dh x.kuk dhft, vkSj mlds vk/kkj ij 

fuEukafdr jkf’k;k¡ Kkr dhft, % 

¼v½ 40% ykHk&ek=k vuqeku ij fcØhA 

¼c½ le&foPNsn fcUnq ` esaA 

¼l½ ` 2,56,000 dh fcØh ij va’knkuA 

¼n½ ` 4,000 ds ykHk ij lqj{kk&mikUrA 

¼b½ ` 2,56,000 dh fcØh ij ifjorZu’khy ykxrA 

4. 50 units are introduced into a process at a cost of ` one 

each. Total additional expenditure incurred in the 

process is ` 30. Of the units introduced, 10% are 

normally spoiled in the course of manufacture, these 

possess a scrap value of ` 0.25 each. Owing to  
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an accident, only 40 units are produced. You are 

required to prepare (i) Process account and 

(ii) Abnormal Loss A/c. 

` 1 izfr bdkbZ dh ykxr ij 50 bdkb;ksa dks ,d izfØ;k esa 

izLrqr fd;k x;kA izfØ;k esa fd;k x;k dqy vfrfjDr O;;  

` 30 gqvkA izLrqr fd;s x;s bdkb;ksa esa fuekZ.k ds nkSjku 

10% lkekU; :i ls u‛V gks tkrs gSa ftudk {ksI; ewY;  

` 0-25 izfr bdkbZ gksrk gSA ,d nq?kZVuk ds dkj.k dsoy 

40 bdkb;ksa dk fuekZ.k gqvkA vkidks (i) izfØ;k [kkrk ,oa 

(ii) vlkekU; gkfu [kkrs dk fuekZ.k djuk gSA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. ―Evolution of cost accountancy is the outcome of 

deficiencies in financial accounting system.‖ Discuss.  

ßykxr ys[kkadu dk fodkl] foŸkh; ys[kkadu iz.kkyh eas ikbZ 

tkus okyh dfe;ksa dk izfrQy gSAÞ foospuk dhft,A  
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2. What do you understand by ABC analysis ? What are 

its advantages ? 

,- ch- lh- fo’ys‛k.k ls vki D;k le>rs gSa \ blds D;k 

ykHk gSa \ 

3. Define labour turnover. What are the costs associated 

with it ? How would you treat such costs in cost 

accounts ? 

Jfed vkorZ dks ifjHkkf‛kr dhft,A blds lkFk dkSu&lh 

ykxrksa dk lEcU/k gS \ ,slh ykxrksa dks ykxr ys[kksa esa dSls 

fy[kasxs \ 

4. ―Job costing is more accurate than process costing.‖ 

Comment.  

ßmidk;Z ykxr fof/k izfØ;k ykxr fof/k ls vf/kd ifj’kq) 

gSAÞ foospuk dhft,A  

5. What is ratio analysis ? Discuss its limitations  and 

point out the precautions which should be taken into 

account in adopting this technique.  

vuqikr fo’ys‛k.k D;k gS \ bldh lhekvksa dk o.kZu dhft, 

rFkk mu lko/kkfu;ksa dks crkb, tks bl rduhd dks viukus 

esa /;ku esa j[kuh pkfg,A  

6. What are the various methods of presenting cash flow 

statement as per AS-3 ? Discuss direct method.   
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ys[kkadu izeki&3 (AS-3) ds vuqlkj jksdM+ izokg fooj.k ds 

izLrqrhdj.k dh dkSu&dkSu lh fof/k;k¡ gSa \ izR;{k fof/k dk 

o.kZu dhft,A  

7. Explain clearly as how is cost account helpful in 

decision-making. 

Li‛Vr% le>kb, fd ykxr ys[kkadu fu.kZ; ysus esa fdl 

izdkj lgk;d gS \ 

8. What do you understand by ‗Zero-based Budgeting‘ ? 

How does it differ from traditional budgeting ? 

^’kwU;&vk/kkj ctVu* ls vki D;k le>rs gSa \ ;g ijEijkxr 

ctfVax ls fdl izdkj fHkUu gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following. 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A  

1. Main objective of cost accounting is to determine 

income.  

ykxr ys[kkadu dk eq[; mís’; vk; fu/kkZj.k djuk gSA  
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2. Stores ledger is a perpetual inventory record.    

LVksj [kkrk&cgh ,d fujUrj x.kuk fjdkWMZ gSA  

3. High labour turnover rate denotes good human 

relations.  

mPp Jfed vkorZ vuqikr vPNs ekuoh; lEcU/k n’kkZrk gSA  

4. When output increases, fixed overhead per unit also 

increases.  

tc mRiknu esa o`f) gksrh gS rks izfr bdkbZ LFkk;h mifjO;;ksa 

esa Hkh c<+ksŸkjh gksrh gSA  

5. At break-down point, fixed cost is equal to 

contribution.  

le&foPNsn fcUnq ij] LFkkbZ ykxr va’knku ds cjkcj gksrh 

gSA 

Fill in the blanks :  

fjDr LFkkuksa dh iwfrZ dhft, % 

6. When fixed cost is ` 5 lakhs, P/V ratio is 40%, then the 

break-even point is ` ............. . 

tc LFkkbZ ykxr ` 5 yk[k] ykHk&ek=k vuqikr 40% gS] rks 

le&foPNsn fcUnq gksxk ` 
------------------

A 

7. Liquid ratio is also known as ............. ratio. 

rjy vuqikr dks 
----------------

 vuqikr ds uke ls Hkh tkuk tkrk 

gSA  
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8. Decrease in creditors is ............... of cash.  

ysunkjksa esa deh] jksdM+ dk 
--------------------

 gSA 

9. Zero-based budgeting was first used by ............ . 

‘kwU;&vk/kkj ctVu dk iz;ksx izFke 
---------------

 ckj }kjk fd;k  

x;kA 

10. Budgetary control is a system of controlling ............. . 

ctVjh fu;a=.k 
------------------

 dks fu;af=r djus dk ,d rjhdk gSA 
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